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D–3014 

B. Com. (Part I) EXAMINATION, 2020 

(Old Course) 

(Group—I : Accounting) 

Paper Second 

BUSINESS MATHEMATICS 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA y?kqx.kd lkj.kh ,oa 
xzkQ isij ek¡xus ij fn;s tk;saxsA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. Log 
table and graph paper will be supplied on demand.  

bdkbZ&1 
(UNIT—1) 

1- ¼v½ fuEufyf[kr Qyu ds fy, dy

dx  
Kkr dhft, % 

2

3

(2 1)

(3 2)

x
y

x





   

Find 
dy

dx
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¼c½ mfPp”B ,oa fufEu”B ds fopkj dks le>kb,A  
Explain an idea of maxima and minima.  

vFkok 
(Or) 

¼v½ y?kqx.kd lkj.kh dh lgk;rk ls eku Kkr dhft, % 
(36.71 × 0.8246)   546  

Find the value with the help of logarithm tables : 

(36.71 × 0.8246)   546 

¼c½ ;fn % 
log 5 = 0.6990  

gks] rks % 
3 3 1 4/3log 3125 25 125   

dk eku crkb,A  

If : 

log 5 = 0.6990 

then find the value of : 

3 3 1 4/3log 3125 25 125   

bdkbZ&2 
(UNIT—2) 

2- ¼v½ fl) dhft, fd % 

3 3 3 3

y z x y x

z x y z y x y z xyz

x y z x z

 
     
 

  

Prove that : 

3 3 3 3
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z x y z y x y z xyz

x y z x z

 
     
 
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¼c½ ;fn % 

   
5 7

A
3 2

 
   

 

2 3
B

5 7

 
  
 

 

gks] rks AB Kkr dhft,A  

If : 

5 7
A

3 2

 
   

 

2 3
B

5 7

 
  
 

 

find AB. 

vFkok 
(Or) 

fuEufyf[kr vkO;wg A dk izfrykse Kkr dhft, % 

2 2 3

A 1 0 3

3 4 0

 
   
  

 

Find the inverse of the following matrix : 

2 2 3

A 1 0 3

3 4 0

 
   
  

  

bdkbZ&3 
(UNIT—3) 

3- js[kh; izØeu ls vki D;k le>rs gSa \ bldh mRifŸk ,oa fodkl rFkk 
egRo dh O;k[;k dhft,A  

 [ 4 ] D–3014 

  (A-46) 

What do you understand by Linear Programming ? Describe 
origin and development and importance of Linear 
Programming.  

vFkok 

(Or) 

¼v½ nks Hkkb;ksa dh orZeku vk;q 3 : 4 ds vuqikr esa gSA ik¡p o”kZ 
igys mudh vk;q 5 : 7 ds vuqikr eas FkhA mudh orZeku vk;q 
crkb,A  

The present age of two brothers are in the ratio of 3 : 4. 
Five years back their ages were in the ratio of 5 : 7. 
Find their present ages. 

¼c½ ghjs dk ewY; blds otu ds oxZ ds leku fopj.k djrk gSA 
1

3
2
 dSjsV otu ds ,d ghjs dk ewY; ` 400 gks] rks 1

5
4
 

dSjsV otu ds ,d nwljs ghsjs dk ewY; Kkr dhft,A 

The price of a diamond varies directly with the square 

of its weight. If the price of a diamond weighing 
1

3
2

carat is ` 400, find the price of another diamond 

weighing 
1

5
4

 carat. 

bdkbZ&4 

(UNIT—4) 

4- ¼v½ ` 2,000 dk 5% pØof̀) C;kt dh nj ls feJ/ku ` 2,205 

gksrk gks] rks le; Kkr dhft,A  

A sum of ` 2,000 becomes ` 2,205 @ 5% per annum 
compound interest, find the time.  
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¼c½ fdlh /ku dk 8% okf”kZd pØof̀) C;kt dh nj ls nwljs o”kZ 

dk pØof̀) C;kt ` 54 gSA igys o”kZ dk C;kt crkb,A ewy/ku 

Hkh crkb,A   

The compound interest of a sum of money at 8% for 

2nd year in ` 54. Find the interest for first year. Find 

the principal also. 

vFkok 

(Or) 

¼v½ mes’k ,d NikbZ e’khu bl ‘krZ ij [kjhnrk gS fd og  

` 34,560 vHkh vkSj bruh gh jkf’k dk Hkqxrku igys o”kZ rFkk 

nwljs o”kZ ds vUr esa djsxkA ;fn ns; pØof̀) C;kt dh x.kuk 

8% okf”kZd ls dh tkrh gS] rks e’khu dk udn ewY; D;k gksxk \ 

Umesh purchases a printing machine on the condition 

that he will pay ` 34,560 now and equal sums will pay 

at the end of first year and at the end of second year. If 

the compound interest is calculated 8% yearly, find the 

cash price of the printing machine.  

¼c½ ` 10,000 dk jaxhu Vsyhfotu fdLrksa ij [kjhnk x;kA ;fn 

ewY; dk Hkqxrku 10 leku okf”kZd fdLrksa eas fd;k tkrk gS vkSj 

10% okf”kZd pØof̀) C;kt Hkh yxrk gks] rks izR;sd fdLr 

fdrus #i;ksa dh gkssxh \ 

A colour television worth ` 10,000 is purchased on 

instalment plan under which 10 equal instalments 

including compound interest at 10% per annum are 

payable. Find the amount of annual instalment.  
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bdkbZ&5 

(UNIT—5) 

5- ¼v½ ,d O;fDr us 40 estsa a 88 vkSlr ewY; ls [kjhnha vkSj mlus 
mlh izdkj dh 20 vkSj estsa vkSlru ` 106 dh nj ls [kjhnhaA 
lHkh estksa dk vkSlr ewY; crkb,A  

A person bought 40 tables at an average price of ` 88 
per table. He bought similar 20 tables at an average 
price of ` 106 per table. Find the average price of all 
the tables.  

¼c½ ,d mEehnokj dks 65% oksV feys rFkk og 2745 oksVksa ls 
fot;h jgkA crkb, dqy fdrus oksV iM+s \ 

A candidate wins the election by 2745 votes getting 
65% votes. Find the total number of votes cast.  

vFkok 

(Or) 

¼v½ ,d O;kikjh viuh oLrqvksa ij 5% + 3% + 2% cV~Vk nsrk gSA 
cV~Vs dh okLrfod vkSj ukeek= dh njsa Kkr dhft,A  

A businessman allows 5% + 3% + 2% discount on his 
goods. Find the real and nominal rates of discount.  

¼c½ fdlh oLrq dks ` 120 eas cspus ij 25% ykHk gksrk gSA ;fn ml 
oLrq dks ` 128 eas cspk tk;s] rks fdrus izfr’kr ykHk gksxk \ 

There is a profit of 25% when an article is sold at  
` 120. What will be the gain per cent if the article is 
sold for ` 128 ? 
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